EARAROBEEIERT — 2 N— IBISH —F

20155 10A1H (OK) 11ES#1E

IGE B AN 2 —%y MR 1 TR2KE \ (%] /™ \ (EBml - | &% (A) 1400 &
[AE4£] 1% :390,000” ~ 2%:78,000”  37%&:39,000M”  4%&:0MH / 5&:0H
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
FLz~vOr o2 ;ﬁguﬁ 1:(3_1).6 3-3-3-2 | 40.9| — 1 477 zgg; (5512)
R:y07x BiFLcO0-v> ) R@77—n
AEUF2TIV 2 E‘Uéﬁ 1:(322).0 7755 |40.3| — | 3 | 461 iﬁ%i (%£42)
LA vTF b L BIE-FATrTY 3 | 45 2 4g
LA it 2 | RIAR 1:32.1 2-2-1-1 | #1.5| — 6 456 | BAB— (S54R)
NIVR— L ) 54.0 (1/2) (0) SAFNE
LTHAFUS = BiTr—F - *3 25415
oL xRy B2 2‘%%@&*&1 1:(342).9 5-4-4-4 | 41.8| — 2 483 éj%fé (1)
TSy IEAE Biwss—vq ) | wm mE
GEEXD :33. —6-6- . — IR (1
LA NPT+ —%— "2 ) RS 1:.8 R R ! g‘) EIESL
R:Fth¥~<71xX58 B:7hIvTHTx Al 1EE
S BERE A :34. -5-7- . — HEET (%A
6l1[1|YVav7>h—1— e e e e ° (T; PiaE—
R:TIvIaXI—K Bi¥a-T1k—7 il 380
o=\ 1ERERA : -1-1- - HEZE (5#)
717717125527y 4 2 e 1.(314>.4 1-1-1-3 | 43.8 4 (4_473) IJ.I"FEE( A
:74H80 BiuA NIt KW
® I —F—EBIERL
13—7+— 7,5,6,1,3,2,4
A== 7,5,6,3,1,2,4
da=3r= (5,7),6,3,4,2,1
40 —F— 5,6,7,3,4,2,1
[ N3
BB 6 170M 714K 4-6 320M B = 4-6 770M 3EHE 4-5-6 1,960
8 B 6 110M 5-6 570M B H 6-4 1,310 K31 6-4-5 10,280M
4 360M 4-5 1,650M

ABICOVWTRDTEEERROODE. TR LIV,




